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1. a) How many HCP do you need to make a Weak 2 bid?

LESSON 15 - QUIZ QUESTIONS

THREE WEAK 2S PRE-EMPTIVE
BIDS

b) How many cards do you need in the suit to make a Weak 2 bid?

¢) How many honours should you have in your Weak 2 suit?

2. Partner opens 2¥ What do you respond with these hands?

aAK72 AAQ52 AK43 AAKJ752 AAQ2
v9862 v?2 v K6 v?2 vK62
¢AQ85 ¢A654 ¢AT852 ¢AJ85 ¢QJ632
%97 s KJ32 K17 & A7 & A7
a b C d e
3. If opener bids 2%, what do you, as responder bid with:

A KQ3 AaKQ3 AaKQ3 AaKQ3

vi43 v943 vo4 v)J843

¢JT87 ¢JT87 ¢QT87 ¢T87

& AKG6?2 &SAT6 & AK62 &A62

a b C d
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4. a) After a Weak 2 Opening Bid, how many points does Responder need to use
the 2NT Features Convention?

b) What else does Responder need to use the 2NT Features Convention?

c) What is meant by a ‘Feature’? Describe two possibilities:

d) Why use the 2NT Features Convention?

e) What is the benefit of the 2NT Features Convention?

f) Is the 2NT Feature Convention forcing?

g) Should the 2NT Feature bid be alerted?

h) If so, who alerts the 2NT bid?
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5. You open 24, what do you bid with these hands after responder’s 2NT bid?

a) b) c)
AKJ9862 4KQ9862 AAKQ986
v6 YAG v76
¢QJ743 ®J74 ®J74

8 85 983

6. What do you open with these hands?

a) b) c)

4972 443 A#KQJ986
YKQJT85 v974 vQT85
754 ¢AQIJT75 ¢ 87

9 *6 * A
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7. The opponents open 1% You are next to bid. What do you bid now?

a)

674
YKQJT85
€754
%93

b)

AKQJ754
v85

387
*764

c)

#AJO
YAQT52
4975
*7

8. You are South, what should you bid after the following auctions and hands?

b) W N E
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South

a5
YKQJ972
62

*K5

South

AAQTO87
YA2

42
%97




South

C) W N E S AQTH
P P 19 ? vo
¢AQT972
%J32

9. a) You are East. What do you bid after the following auction?

East
Py
W N £ S KQ74
¥T976
2¢  ? \
*AKS84

b) You are West. What do you bid after the following auction?

West
W N E S
A5
24 X P YAJ874
¢QJT7
? K42
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